Governor Kim Reynolds

Lt. Governor Adam Gregg

January 27, 2022

Ms. Victoria Newton
Executive Secretary
Executive Council of Iowa
State Capitol
LOCAL

Re: Emergency Allocations of Funds

Dear Ms. Newton,

On or about January 21, 2022 the Iowa Communications Network (ICN) received physical damage to ICN Communications equipment in Des Moines, Iowa. An email was sent to the Office of the Auditor of State and the Executive Council. This letter represents a claim for \$15,460.70 in accordance with Chapter 29C.20 of the Code of Iowa for an emergency allocation of funds to repair damages sustained. Paid invoices will be included upon completion of repairs.

It was determined ICN equipment was exposed due to continued and excessive erosion along lowa Highway 14 north of 425th Street in Lucas County. Enclosed are the damage assessment and cost estimate to restore that damaged equipment to normal operating condition.

If you have any questions regarding this claim, please call my office at 515-725-4666 located in the Grimes State Office Building.

Sincerely,

Randy Goddard
Executive Director

Enclosures

cc: Office of Auditor of State (Tammy Hollingsworth)
ICN Operations Division (Dave Augspurger)
ICN Finance Division (Kammy McHone)

Governor Kim Reynolds

Lt. Governor Adam Gregg

January 21, 2022

Estimate for ICN Fiber Cable Damage: Outside Plant Log #59220101

This estimate is for the relocation of an exposed ICN cable and conduit along Iowa Highway 14 near 435th St and Lucas County. Field investigation determined the exposure was the result of excessive erosion and the Executive Council was notified of ICN's intent to submit this as a claim for reimbursement on January 21, 2022. Relocation will require placement of approximately 600 feet of new conduit and cable and introduction of two new maintenance splices.

No FNS Tech hours services have been included in this estimate nor will they be included in final invoice (incident occurred within the monthly contracted 1500 hours of technical labor).

Estimated costs for this project are listed below:

Construction Labor	\$12,795.76
Splicing Labor	\$1,200.00
Materials	\$1,464.94
Fiber Network Service Hours	\$0.00
Grand Total	\$15,460.70

Please feel free to contact me if you have any questions.

Dave Augspurger ICN Outside Plant Lead david.augspurger@iowa.gov 515-725-4604

**************************************	IOWA COMMUNICATIONS NETWORK, C	OUTSIDE PLANT ESTIMA	TE			Anna anna anna anna anna anna anna anna
PROJECT:	Lucas Co. Hwy 14 Relocate	OSP LOG #:		-	59220101	and the second
LOCATION:	Lucas County	LINK & FIBER COUNT:		Link 1508 4F		
					SUBCONTRACT	
DESCRIPTION	ITEM DESCRIPTION	ITEM NUMBER	UNIT	QTY	UNIT PRICE	SUB TOTAL
A THE RESIDENCE OF THE PARTY OF	CONSTRUCT				LE SHE WINE	
Expose Existing Live Cable	E XPOSE AND/OR LOWER EXI	STING LIVE CABL	E LF	100	\$10.00	\$1,000.00
1	500 10 500	***************************************	LI	100	\$10.00	\$1,000.00
	A CONTRACTOR OF THE CONTRACTOR					
	PLOWING		MEST OF LIVE THE PARTY.			
Rural PlowCable or One Duct	sta to sta		LF		\$2.50	
				-		
Rural TrenchCable or One Duct	TRENCHING					
rulai Henchcable of One Duct	sta to sta		LF	-	\$4.25	
- Address	TAILURA PARA PARA PARA PARA PARA PARA PARA P	CONTRACTOR STATEMENT AND ADDRESS OF THE STATE				
Rural 1 ea 2" conduit	HORIZONTAL BO sta to sta	RING	1.0	T 600	\$10.00	¢6,000,00
Hardi I Ca Z Corroan	310 10 310		LF	600	\$10.00	\$6,000.00
	FIBER INSTALLA	TION				
EXISTING Duct Rural	sta to sta	110 K	LF	800	\$1.00	\$800.00
				-		
	INTERIOR DUCT INST	ALLATION				
2" EMT and Interior Pull Boxes	TRIERIOR DOCT INST	ALLATION	LF	1	\$13.00	
	201205 3 2011					***************************************
Core Bore / Seal Up to 2"	BRIDGE & BUILDING AT	TACHMENTS	EA		\$200.00	-
Ext Bldg Attachment: 3" GIP & Pull Box			EA		\$400.00	
Rural 24x36x30	HANDHOLE PLACE	MENT	EA	1 2	\$500.00	\$1,000.00
			LA		3300.00	\$1,000.00
	HEAVY COLLEGED A	DEDATION	NAME OF THE OWNER, WHEN			
Backhoe Time	HEAVY EQUIPMENT O	NAMES OF THE OWNER, OF THE OWNER, WHEN PERSONS ASSESSED.	PER HR.	1 4	\$146.94	\$587.76
						7
Clean Up	MISCELLANEO	US	LS	1	\$2,000.00	\$2,000.00
Clear/Restore Right-of-way			LF		\$5.19	\$2,000.00
ICN Markers-Place/Post Permitting/Easements			EA		\$18.00	
Mobilization			LS LS	1	\$750.00	\$750.00
Material Pick Up			LS	1	\$250.00	\$250.00
Surveying Services	PAVEMENT REMOVAL & I	REPLACEMENT	LS		\$2,000.00	
The state of the s	TAVENERI REMOVAL &	ALPEACEWEN!			T	
	BOOK BOOK					P. HITCHIC PRODUCTION AND PRODUCTION
Rural 1 each 2" Conduit	ROCK BORIN	U	LF	T	\$70.00	
	ROCK SAWIN	G		T		***
	COPPER CAB	LE				
	THE PARTY OF THE PARTY AND ASSESSED TO THE PARTY ASSESSED.	CONS	TRUCTI	ON LABO	OR SUBTOTAL:	\$12,387.76
A STATE OF THE STATE OF THE STATE OF	THE RESERVE OF THE PARTY OF THE			(SAV)	SCHOOL SELECT	May/I make 1
THE RESERVE THE PARTY OF THE PA	THE R. P. LEWIS CO., LANSING, MICH. 49 P. LEWIS CO., LANSING, MICH. 40 P. LEWIS CO., LANSING,	and the latest the latest and the la		-	The second second second second second	STREET, SQUARE,

PROJECT:	IOWA COMMUNICATIONS NETWORK, O	OSP LOG #:			59220101	Parameters for the
- Harris Control of the Control of t						
LOCATION:	: Lucas County	LINK & FIBER COUNT:				
DESCRIPTION	ITEM DESCRIPTION	ITEM NUMBER	UNIT	QTY	SUBCONTRACT UNIT PRICE	SUB TOTAL
THE RESERVE OF THE PARTY OF THE	SPLICING	STATE OF THE PARTY	7-575	- C(11		
Splicing - Mobilization			LS	1	\$500.00	\$500.00
Prep splice case			EA	2	\$150.00	\$300.00
usion Splicing	Splicing 13-24 fibers		EA	8	\$50.00	\$400.00
usion Splicing	Splicing 1-12 fibers		EA		\$70.00	***************************************
DP/WIC Setup			EA		\$125.00	
Mid-sheath Cable Preparations			EA		\$250.00	-
Jnicam/Field Installable Connectors			EA		\$50.00	
Other			***************************************			
Other						
OTDR Testing	OTDR 1-12 Fibers		EA		\$17.50	
The state of the s				NG LABO	OR SUBTOTAL:	\$1,200.00
		Status assents	MARK DE	10000	MANAGEMENT STATES	
	MATERIAL					
iber	48 strand Armored SM fiber	SOP48LAA3BBKOFX	LFT	800	\$0.54	\$432.0
Handholes w/ lids	24" V 26" V 20" TD base # 12 12 12 12 12 12 12 12 12 12 12 12 12	DCA 3 43 C3 CCA 2 C			6375 55	A
ranunules wy nus	24" X 36" X 30" TD handhole w/ 20T lid TIER 19	PCA243630SN20	EA	2	\$375.00	\$750.0
Ground Rod	Erico 1/2" x 6' Ground Rod (Graybar)	611360	EA	-	67.00	
Ground Clamp	Burndy 1/2" Ground Rod (Graybar)		EA	-	\$7.80	
Ground Wire		GRC12	EA		\$1.35	
Test Station	6 AWG Bare Solid Copper Ground Wire (Grayb		LFT		\$0.33	
The same state of the same sta	TRIVIEW Test Station w/ Isolever 72" ORANGE		EA		\$41.20	
Warning Marker	TriView Warning Marker 78" with Orange Cap	TVFL/800	EA		\$16.71	
				-		
				-		
Tracer Wire	12 AWG Pro-Line CU HDPE 30 MIL Orange Soli-	740040647	LFT	-	60.13	
Tracer wife	12 AWG FIG-LINE CO HDFE 30 WIL Orange Soll	740040647	LF1	-	\$0.13	
Splice Enclosure	*450A (with lug) FOSC450-A4-4-NT-0-A1V CLO	EOSCAEO AA A NE O AA	EA	2	\$126.88	\$253.7
Splice Tray	*A TRAY 12 FOSC-ACC-A-TRAY-12 TRAY WITH	AND ADDRESS OF THE PARTY OF THE	EA	2	\$12.01	\$233.7
Tracer Bonding Connector	*3M Scotchlok Shield Bond Connector 4460-D	7	EA	4	\$12.01	\$5.1
Sealing Kit (for tracer wire egress)	*FOSC Closure Sealing Kit FAK-MULDRP-45-4P,		EA	4	\$1.64	\$5.1
seaming the flor tracer wine egressy	1 OSC Closure Sealing Kit PAK-INOLDRP-45-4P	11-0010-000	EA	-	\$1.64	
				-		
		ICN PRO	VIDED N	ATERIA	LS SUBTOTAL:	\$1,464.94
Duct	2" Orange HDPE Duct (2,500')	IN/A	LFT	600	\$0.68	\$408.0
Tracer Wire	12 AWG Copperhead 30 MIL Insulated Orange		LFT	- 000	\$0.15	φ-100.0·
- Andreas Andr	a supposition of the insulated of table	1230/1131000	LI I		\$0.15	
August 1						
		CONTRACTOR PRO	VIDED N	ATERIA	LS SUBTOTAL:	\$408.00
	MICCELLANI	.0110				
Engineering Services - HBK 2019 Rates	MISCELLANE Project Preparation, Setup & Deploym		EA		\$1,000.00	
angineering out these than 2025 Hates	OSP Route Eng - Rural	iene (minimum)	LF		\$0.50	
	Permitting (All entities)		EA	1	\$500.00	
	Building Entrance - Site Plan t		EA		\$600.00	
	Travel Hourly Rate in excess of 60	mile radius	HR		\$116.00	
Emergency Restoration estimate			LS			
- W- 21						
			MISCE	LLANEO	JS SUBTOTAL:	
STATE OF THE PROPERTY OF THE P	The same and the same of the s	ME TANK MERIN		MICH	Province of the second	
ICN Provided Materials	\$1,464.94	CONSTRUCT	ION LAB	OR SUB	TOTAL	\$12,387.7
Miscellaneous or Sole Source		SPLICING	LABOR	SUBTOT	AL	\$1,200.0
Splicing Contractor	\$1,200.00	MATERIALS SUBTOTAL \$1			\$1,872.9	
		MICSELLANEOUS SUBTOTAL				10000
Competively Bid Labor & Material	\$12,795.76	MICSELLA	MEOUS	PORIOI	AL	



Exposed ICN cable along Highway 14 in Lucas County 59220101

Augspurger, Dave <david.augspurger@iowa.gov>

Fri, Jan 21, 2022 at 10:18 AM

To: "Dana [AOS] Davis" <Dana.Davis@aos.iowa.gov>, Executive Council group email <ExecutiveCouncil@tos.iowa.gov>, "Harris, Victoria [ICN]" <victoria.harris@iowa.gov>, "Hollingsworth, Tammy [AOS]" <tammy.hollingsworth@aos.iowa.gov>, Kammy Mchone <kammy.mchone@iowa.gov>, Ryan Mulhall <ryan.mulhall@iowa.gov>, Scott Pappan <scott.pappan@iowa.gov>

Good morning,

A field technician discovered an exposed ICN cable during field inspection along lowa Highway 14 north of 425th St in Lucas County. Exposure is the result of continued and excessive erosion of the banks and the ICN would like to submit this as a claim for reimbursement. Please let me know of any questions.

Respectfully,

Dave Augspurger Iowa Communications Network Sr. Telecommunications Engineer | Outside Plant Lead 515-725-4604 (office) | 515-229-2013 (cell)

